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NO REER | WMEFR BT (i aﬁ I?%%iﬁﬁﬁ%) %g%gﬁ B A (. g;ﬁg?’fﬁmﬁg) REZX (g—éﬂig) *ﬁﬂ% Cs-134 | Cs-137 | Cs&i
390 |=RER BER ZARWH %;%nuﬁz;gﬁ) JEFE AR 1=<HAE — BE R EAERREAR Ge H29.1.11 | H29.1.18 <2.9 <25 <5.4
391 |&BER BEER N /NG ] %:%mliigﬁ) JETRIE 188 FBIEE BERBEHER Ge H29.1.11 | H29.1.18 <3.0 <34 <6.4
392 (BER BEER ZARH %:%mli;;gm) JETE WEHS - BEREERRR Ge H29.1.11 | H29.1.18 <44 <35 <19
393 |&BEE BER N /NG %:%ﬂultggﬁq) JETE B KR — Ge H29.1.11 | H29.1.18 <3.1 <24 <5.5
394 |EER EER N /NG ] %;%mlzgm JETRE WEHMS - RS R AR Ge H29.1.11 | H29.1.18 <3.7 <42 <19
395 (fBER BEER ZARH %:%””Ii;;fﬁ) JETRIE ALy — BEREENRR Ge H29.1.11 | H29.1.18 <42 <2.8 <10
396 [BER BEER AT %:%ﬂuli;g?ﬁ) JETE PFLKRIR - BEREEMRRER Ge H29.1.11 | H29.1.18 <43 <29 <12
397 |RER BER N /N %:%””I;ﬁ;gﬁq) SEFE WEDS — BEREEMRRER Ge H29.1.11 | H29.1.18 <3.7 <32 <6.9
398 |fBER BEER . N NG %:%””Iigﬁ) JETRIE FLAH - BEREEHEHR Ge H29.1.11 | H29.1.18 <6.5 11.2 11

399 [BER BEER N /NG ] %:%mli;;gm) JETRE M EABT AR RER A BEREEMRRR Ge H29.1.11 | H29.1.18 <41 13.7 14

400 (BER BER N /NG %:%nult;gm) JETE Y ES - Ge H29.1.11 | H29.1.18 <6.1 7.79 7.8
401 |EER BER N /N ] %:%nult;?;gm) Eptir =R — BEREEMRRER Ge H29.1.11 | H29.1.18 <3.6 <34 <1.0
402 |RER rER RKEH %:%mjlci;;ﬁ” JETRE b &7 - BERBEHER Ge H29.1.11 | H29.1.18 <3.8 <24 <6.2
403 |EER BEER REH %éj%gf;;ﬁ” JETE M FLAAT> - BEREEMRRR Ge H29.1.11 | H29.1.18 <42 <3.3 <15
404 |BEBE BER REH %f%gfiﬂ) JETE =HE IvFavEmE Ge H29.1.11 | H29.1.18 <25 <2.0 <45
405 |RER BER REH %f%gi;%;@) JEFE ALy — BEREEMRER Ge H29.1.11 | H29.1.18 <29 3.14 3.1

406 |(B2ER BEER REH %:%mf;’_;@) JETRIE M 188 FavEE RERBEHEHR Ge H29.1.11 | H29.1.18 <32 <24 <5.6
407 |EER BER w'E™ %éf%ggg;@) ST E B Kt BEREEMRRER Ge H29.1.11 | H29.1.18 <3.6 <41 <117
408 |(fBEBR BER w'E™ %f%gézg) JEFE b= RIGAY Ge H29.1.11 | H29.1.18 <4.6 <4.0 <8.6
409 |(EER BER BE™T %g_&%ggg;@) SR IE Yk SVYAY BEREEHEHR Ge H29.1.11 | H29.1.18 <4.0 <34 <14
410 (&EBR BEER wBE™ %éjﬁ%ggg;@) JETRIE D) I<TAY BERBEHER Ge H29.1.11 | H29.1.18 <3.6 <35 A
411 |EER BER '™ %f%gézg) JETE b JIUAY BEREEMRER Ge H29.1.11 | H29.1.18 <3.7 <35 <12
412 |BER BER ®'E™ %gﬁ%gggg) JETE b= IETAY BEREEMRRER Ge H29.1.11 | H29.1.18 <3.0 <2.8 <5.8
413 |fBBR BEER w'E™T %é%%@%é;@) JETRIE bl ZEAY BERBEHER Ge H29.1.11 | H29.1.18 <3.8 <35 <13
414 |EER - %gﬁ%ggg;@) JETRE DL SHhUAY BEREHENRR Ge H29.1.11 | H29.1.18 <29 <3.1 <6.0
415 |BBE [ EF BT %f%gézzm) B Pa—X SHhoPa—X Ge H29.1.11 | H29.1.18 <2.1 <23 <44
416 |fBBR [ EF BT %f%@%ﬂm B v—<L—F — BEREEMRER Ge H29.1.11 | H29.1.18 <14 <1.0 <14
417 |fBBR AT %éjﬁ%@%fgzm JETRIE WEHS - BERBEHEHR Ge H29.1.12 | H29.1.18 <4.1 <38 <19
418 (BB R mfEE™T %éjﬁ%g%%zm) JETRE M PFLKIR — BEREEMRRR Ge H29.1.12 | H29.1.18 <3.8 <46 <84
419 |BER '™ %f%géﬁgm JETE FSA4TIL—Y o3 BEREEMRRER Ge H29.1.12 | H29.1.18 <45 5.91 5.9




EE 3

=N=] #& R (Ba/kg

NO | RMEEH | MERR | WEH | e oG | RS | RE BE% . ) B pax | BEE | BB oeis | ce1w | ooad
420 |BER BER %™ %é%@%;%’;@m JEFE AR Z Dt 1=<HAE — BERBIEHRER Ge H29.1.12 | H29.1.18 <3.1 <3.0 <6.1

421 (BB R BEER mEET %gﬁ%g%%zﬁ) JETRIE Z Dt 188 HIVEEE BERBEHER Ge H29.1.12 | H29.1.18 2.7 <2.9 <5.6
422 |EER BEER Eopuli) %gﬁ%g%tég) JEFE R Z D1tk MRASAR - BEREERRR Ge H29.1.12 | H29.1.18 <4.3 9.14 9.1




